Day 2 Completing the square - used.notebook

Quadratic Functions

How do I go from one form to the other???
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Vertex Form to Standard Forma  Expand

First, let's review expanding:
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Shortcut Rule for Squaring a Binomial

1. Square the First Term
2. Multiply the terms together and dodble it

3. Square the last term
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Changing equations from...

Standard Form y=axl+bx+c

l “Complete the square”
Vertex Form

EXAMPLE: Constructing a perfect square trinomial

y=a(x—h)*+k

a) x2+10x+£:l)(+5 )2
b) xz—12x+i:()(\b )2

c) x2—5x+§i:(x“; )Z -:5‘,/
/
d) x2+7x+ g =( 31'11 ¥ ?,; 2
a L
3,6 (X2 247
e) xzfzx+ + = X )2 g %

RULE: Look at the coefficient in front of
the " x term" (the b value), and...

(1) Take half of it, then
(2) Square it!
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September 04, 2014

Express each of the following in vertex form:

1 y=x'—1l4x y=x'+6x-3

UE X1+ 49 '7'67 37 x+éx+~lﬂ 5
Y- (x) 40 (1=

(Show multiple methods that could be used)

3. y=—x"+ 2547 4 y=dx’=32x+1

X ax ] j 7()( —sxﬂ@‘f’
\7 ﬂ/ X !’> j7 _t/é(_tf)_ﬁfl
j“(x l)-f‘é y Lf&(v )'@/7

Now that we have the method down...let's have some FUN!!!!
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ComPl@le ‘HNSqULaRQ

ex. 7C+10x+ 25 = 6(+5\)
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Attachments

Q Worksheet - Standard to Vertex (a not 1).doc



Pre-Calculus 110

Completing the Square


Express the following functions in vertex form and state the vertex of each parabola.
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SOLUTIONS:







� EMBED Equation.3  ���
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